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MATHEMATICS

Yo = +9)° woon L=

i V24.99 3 Bedcsn
X (A) 4.999
(A) s (B) 4.899
(B) x+vy (C) 5.001
€ x-y (D) 4.897
o <
x |3x-5|<2 <o
2. B HINS cIRYT0Y, Bree 3 Tsdeodd Ay S exz .
SRV, ? 3
(A) f)=x2—dx+5 in[1, 3] ®) 1sxs<-
(B) fix)=x2-x in[0, 1] 3
© fx)=|x| in[-2,2] & tans?
@) f9)=[x] in[25,2.7] () A%tss
9
3. fix) =x>-6x2+ 9 + 10 SV3ZRD (D) ‘15"55
QR ec3oovy
(A) (=0, 1)U (3, ) iRy #0 XT3 230w
(B) (0, 1]U[3, ) RoggRRectdensy 8 ot dewmpt k 3
©) [1,3] edean
(D) (--CD, -l] o [39 w)
- X142 b1 L6l 2
4.  word IwRE Sbut  weEdnsd PX) | k-1 3k| k | 3k | 3k2| k2 | k2+k
4 A.Qo¢E DoR, FORIS. &rbus “Then the value of k is J.
WD 14 3.Q0¢. BTN 40 dRecdr s @A) 1
ORI Qoo 5
(A) 1043 cm¥sec (3. 3.20¢/3) B) -2
(B) 14+/3 ecm?/sec (3. 3.20¢/%) © %
(C) 42 cm?sec (3. 3.20¢/3) 1
(D) 14 cm¥sec (3. B.20¢/%) ®
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MATHEMATICS

If%/)—(J;=ﬂ(x+y)5 , then %xx=
A =
y
B) x+y
© x-y

o I
X

Rolle’s theorem is not applicable in
which one of the following cases ?

(A) fx)=x2-4x+5 in[1,3)
B) fix)=x*-x in[0,1)
© fx)=|x|in[-22]

(D) fx)=[x] in[25,2.7]

The interval in which the function
f(x) = x3 — 6x% + 9x + 10 is increasing
in

(A) (=0, 1)U (3, o)

(B) (-0, 1] |3, )

© [1,3)

(D) (—e0,-1]V[3, )

The value of +/24.99 is
(A) 4.999
(B) 4.899
(C) 5.001
(D) 4.897

If | 3x— 5 | <2 then

4
RY ~lLrg =
(A) | x 3

7
B) 1<x<-—
(B) x 3

9
C) 18xg—
© x 3
(D) —ISxS-z—

A random variable ‘X’ has the
following probability distribution :

Rl L2 E S FE]-T

P(X) | k-1| 3k| k| 3k| 3k?| k2| k*+k

Then the value of k is
The sides of an equilateral triangle are 1
increasing at the rate of 4 cm/sec. The A) -
rate at which its area is increasing, S
when the side is 14 cm B) -2
(A) 1043 cm?/sec 2

9 -
(B) 1443 cm¥sec 7
(C) 42 cm?/sec (D) 1
(D) 14 cm?/sec 10
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10. w2 [doo 3 0Y 2 Ro I
8. A R B ritd S Fpedn 0D s, > Tagedd Rosie rie
PuSRTNE, P(A) = 0.2, P(B) = 0.6 §=1{1,2234356 7 3 wowd
Ros3 00T HORTPS T LW AR
3 P(AB) = 0.5 &n3S P(A'B) = Rosd, 0T [oO TRE,. & B0ad,ck
3 NEENCR xmxoa.% [Clalovrnd
(A) o RorgsRectdotn
2
2 AL
® = W3
1
€) =
) ©. =
) - "
3 3
3 e
(D) :
11. 100 ﬁmoz&ﬂ#ﬁi Brodha U aow
9. X’ A womb OFF DoN W, eud DBRTY, A I B rish Aeanvana),
n(A) = 50, n(B) = 60, n(ANB) = 20
Tasrison = 6, p I PX =2) = 12, swonin (A'NB’) =
(A) 40
P(X=3)=5t3ﬁ36 P= (B) 20
: (C) 90
A e 10
(A) T (D)
(B) 12% 12. f:R>RIQ ) =Vx—Tx+12
. SUBFTR, R, a00, DTN f(x) S EeZ,
ks (A) (-, 3] U [4, )
(B) (-o,3]Uu4,x)
® = © (31N [4, ®)
" D) G.4)
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10. A man speaks truth 2 out of 3 times.
If A and B are two events of a sample He picks one of the natural numbers in
space S such that P(A) = 0.2, P(B) = 0.6 the set S = {1, 2, 3, 4, 5, 6, 7} and
: reports that it is even. The probability
and P(A|B) = 0.5 then P(A'[B) = that it is actually even is
2
A) =
@ = 5
10 1
(B)i==
) 5
®) = o L
3 (&) 10
3
1 (D) -
o
© 5 5
D) 1 11. If U is the universal set with 100
3 elements; A and B are two sets such
that n(A) = 50, n(B) = 60, n(ANB) =
20 thenn (A'NB") =
If *X’ has a binomial distribution with (A) 40
parameters n = 6, pand P(X =2) = 12, (B) 20
P(X=3)=5thenP = {G) 99
(D) 10
o
12 :
X 12. The domain of the function f: R - R
B) —
® 5 defined by f(x) = Vx> = 7x +12 is
1 (A) (-o,3]U[4,x)
<) =
B (B) . (—=,3] VU (4, x)
i © (=31 [4,)
Pk 56 D®) G.4)
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= 2 - il
13. cos x = | sin x | FAEBTRT TR, 17. X 5=y+1 =z+4 g

TOTTR) 2 -1 1

3x -4y —z + 5 = 0 Z=03on¢ IBAI
(A) x=nnt % .neZ OO BRI
9
(B) x=2nn+ % ,neZ (A) COS—'(W)
(C) x=nm+(-1)" i ,neZ (B) sin™! (LJ
= .
(D) x=@n+rt -, neZ © cos_,( 5 ]
2413
14. /3 cosec 20° — sec 20° = (D) sin"! [L
2J13

(A) 2

4 18 1,2, 1) Domdd0T

(C) 4 o ( P JC 0 ) O o

D) 1 "'2"'-:”;2=z'3 B essrt T

40308y
15 P02 s ‘adﬁ% :{)@m e3¢
243 245
zéﬁa P Torsor 08y (A) = (B) =
(A) 2
5 20

B) 3 ©) —\/3: (D) >

© 4

D

gl 19. XY-030, A2, 3,-5) R

' e S -l

6. dr_y+z+3=0xbsed (1,3, 4) E.( 1,-2,-3) VORIV ReedRO

VOTINOT PE LOWTHTE VOTRY ROVDEICR), IR SRS

(A) (1,4,3) (A) 2:1 s0308=0

(B) (0.—4,-7) (B) 3:2 wemaon

SR D) 5:3 momzon
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13. If cos x = | sin x | then, the general 17. Acute angle between the line
solution is x=5 y+1 z+4
5 = : = and the plane
_ u ~
(A) 200 v iNE 3x—4y-z+5=0is
9
A A) cos“(————J
(B) x=2nrnt 2 ,neZ ( J364
T hE 9
C =nn+(-1)" — ,neZ B sm'(—)
(C) x=nn+(-1) 3 ne (B) =
n 5
(D) x=2n+1)nt — ,neZ C cos"( ]
: N s £
(D) sin7! Tt
14. /3 cosec 20° —sec 20° = 213
A) 2
(B) 3 18. The distance of the point (1, 2, 1) from
© 4 theline 2=1 - ¥=2_ 23,
243
23 78
15. If P(n) : 2" < n! then the smallest
positive integer for which P(n) is true, ®) 25
is 3
A) 2
© £
B) 3 3
© 4 20
D 25
® 5 3
16. Foot of the perpendicular drawn 19. XY-plane divides the line joining the
- from the point (1, 3, 4) to the plane points A(2, 3, —5) and B(-1, -2, -3) in
2x-y+z+3=0is the ratio
(A) (-1,4,3) (A) 2:1 internally
B) 0,4,-7) (B) 3:2 externally
©) 1,2,-3) (C) 5:3 internally
D) (-3,5,2) (D) 5:3 externally
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20. SIFEDY, MRS RnSy VLA 23. ROBMWS 2 K b AT SR EeesY
ne
21! =» -
Y ——3—3?\:1?:, b 8 e a 3 IFexm -2
s | a | =
(A) 4
(B) 3
©€) 2
(D) 1
(A) 4x+5y>20, 3x+ 10y < 30,
x<6, x,y20 A A A A A A
. 24. 1 +2) +k D21+ +3k
.(B) 4x + 5y 220, 3x+ 10y < 30, XOBreR: Bnctithat etsed
x26, x,y20 n;omm 255 ®
(C) 4x+5y<20, 3x+10y< 30, o4 N
x=26, xy20 T 0
(D) 4x+5y<20, 3x+ 10y <30, (A) 2 4 g
x26, x,y20
T S
i+j=k
» N (B) NE
21. y Ce"™ + Cpe"™  empos
RO0EBOEI Tede s —i+f-K
(&)
A) 1 \3
(B) 2 Byl -
(€ 3 (D) 3
(D) 4
22. |a|=16,|b|=4 smn 25. [a+2b-c,a-b,a-b-c]=
VIZxBp+|2-BP - g
A) 4 (B) [a,b,c]
(B) 8 > 2
b!
©) 16 © 2[al, , €]
(D) 64 (D) 3[a.b,¢]
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20. The shaded region in the figure is the > . 1%
solution set of the inequations 23. If the angle between a and b is Tand
]’ the projection of @ in the direction of
04) A -
v} bis-2,then|a |=
(.
’ a) 4
(B) 3
; > X
0 (5.0) NL(6.0) m ()2
D) 1
(A) 4x + 5y > 20, 3x + 10y < 30,
X506, .3,y20 ; % :
PRE A (i e - o 24. A unit vector perpendicular to the
] +5yz2 * < 30, e WA Sl
®) x> &l sl plane containing the vectors i+ 23\ +k
x26, x,y=20 A
(C) 4x+5y<20, 3%+ 10y< 30, and 21 +j + 3k is
x<6, x,y20 2 ’i\+"\]+l’2
(D) 4x+5y<20, 3x+ 10y < 30, @ 7
X206, Xyz0 B i
®) i+j-k
21. The order of the differential equation \ﬁ
— C, Citx . AR
y=Ce"™ + Cye™is © _?+l_ﬁ
A 1 \3
(B) 2 8 ool
)3 (D) \ﬁ
(D) 4
— - — -+ - = -
2. If|3]=16,| D |=4hen, e E i L M tes s T Ra)
> o > o A) 0
\I2xBP+|2-BP = :
- -
(A) 4 B) [a,b.c
22; 7 © 2E.5.3]
(D) 64 (D) 3[a.b.c]
Space For Rough Work
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3 2
26. fcor'xdx= 29, _[[xz]dw==
-3 0
(A) 3n (A) $-+2-43
®) 0 B) 5++2-43
(g) j" (O 5=d2+
)
( D)~ B=L2=43
1
7. dx = 1
, J.\/;+x3x 30' J‘ -H—xdx=
(A) 2log(Jx +1)+C S VIS
(B) %tan']\/;+c (A) g—l
©) tan!'Yx+C ® Z41
(D) 2tan'Vx+C 5
n
© 3
2x -1 " 1
o f (x—-l)(x+2)(x—-3)dx AL ® 3
|x=1|+Blog|x+2|+Clog|x-3|+K
it A, B, C rieh e5:08,30a0n :
31 o @B rsdx? +x + 1 =0 0TS
(A) %1,%:21 SRORTINTT 0 + B2 080>
(A) 1
§ 1
o s _1+iy3
(B)
I =11 2
(C) - o e o’
6 33 © -1-i+3
wli=11 2
® 533 D) -1
Space For Rough Work
A-1 Mathematics



3 : ; 2
26. fcot"xdx= 29. f[xz]dx=
-3 0
(A) 3n ' Ay =5=A2- o3
®) 0 : B) 5+2-43
(C) 6 ©) 5-V2+43
D) 3 : (D) 253 f3
1
1 1+x
27. | —=——=dr= 30. — dx=
JJ;+XJ; '([ 1—-x
(A) 2log(Jx +1)+C A) %‘1
T
(B) tan Jx+C = §+1
C) tan'Vx+C 2
(€) tan'vx+ o
D) 2tan!Vx+C f
(D) 3
28. f A, dr = A log
(x=D(x+2)(x-3)
|x—1|+Blog|x+2|+Clog|x-3|+K, 31. If a and B are roots of the equation
then A, B, C are respectively x2+x+1=0then a?+ p2is
-11 -1
— s G kR) 3
(A) 5’33
51 4 ~1+i4/3
- (B)
B FTs :
1 -11 o e
©) 33 ©) 121s/§
-1-11
D) T35 D) -1
Space For Rough Work
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32. 1,2,3,4,5, 6, 7 ©o8ndd, YSoom3r s s
SIerce 200 X Torte aow> tekess, | 36 J#sin 3w ax=
WO Tort TWRWIDmT 4  e08nd @A) - %3 cos3x ? x? sin3x h
Bos3, 030 3 3
(A) 432 2xcos3x  2sin3x +C
(B) 436 9 27
(€) 450 B) x° cos3x i x? sin 3x -
(D) 454 3 3
33 (2 + v - (2 — v B axon 2xcos3x  2sin3x +C
o -2
ROPEBOATION TRTCINS THNE Boss, . Al
(A) 0 (C‘) i x> cos3x . x? sin3x &
(B) 13 3 3
(C) 26 2xcos3x  2sin3x +C
(D) 50 9 27
‘ x>cos3x xZsin3x
34, womd nomee3d 3epod Swode TEY BF; T VT
9 smn oot I WD ITNG '
2xcos3x  2sin3x +C
PR 9 27
#) 39
(W 37. y2=x FoSeoh e 2+ =2
Eg; itz P33 IBDDT X838 DeS 7S
TOCDT DYEEIFTY BET TRINGE),
35. Xo¥ Jedcdeond JderE egnideodn A) x-3
A PJeEnvny  evorOmRARTY, © 4 2
esdoxo Fogs X-es8teo0n B) 3 =
SLOLDTRES BRI 2 4
(A) 45° (©) 2=
(B) 90° 3 4
(©) 120° T
(D) 135° 4 3
Space For Rough Work
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32. The number of 4 digit numbers without :
repetition that can be formed using the 36. f x* sin 3x dy =
digits 1, 2, 3, 4, 5, 6, 7 in which each ' 3 30
number has two odd digits and two @A) -= L G £
even digits is ) 33x 2 sin 3:;
(A) 432 et 4.
(B) 436
3 Lt
(C) 450 ®B) x~ cos3x L X sin 3x
(D) 454 3 3
2xcos3x 2sin3x C
33. The number of terms in the expansion 9 e T
of (2 + y)% — (2 — y)?5 after : 53
goEhay AALS ' x”cos3x x“sin3x
simplification is <o - + +
A) 0 3 = 3
B) 13 2xcos3x  2sin3x +C
©) 26 9 27
D) 50 x>cos3x  x%sin3x
(D) ®) - A L
3 3
34. The third term of a G.P. is 9. The it Aol 9
product of its first five terms is 8 g
(A) 3°
9 _
(B) 310 37. The area of the region above X-axis
© 3 included between the parabola y* = x
(D) 312 and the circle x> + y?> = 2x in square
units is
35. A line cuts off equal intercepts on the A) x D
co-ordinate axes. The angle made by ( -
this line with the positive direction of T
X-axis is (B) N4
(A) 45°
o o M
(B) % 3 4
(C) 120° -
o D) ===
(D) 135 4 3
Space For Rough Work
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38. Y-8,y =cosx a3y = sinx ; 4. DI 92 +25y2=2253
0 <x < 200 s 3tacacis Socta b v
4
DYEEIFTY (A) 3
(A) 2 -1 Sq. units (3. IRIND) ®) 2
5
(B) /2 Sq. units (3. ININE) ol
(C) 2+ 1 Sq. units (3. IRIND) ‘;
(D) 2 - 2 Sq. units (3. IRRE) e
n
39. (2x+3y)dy =y dx (y > 0) s=803 2. Y (@r-1)=x soon
TDEFTEIT BRFOT LTSIIFID) r=l
1 e ks ot g n>
= lim —2+—'..I+—'§'+ ......... +'—2- =
(A) eY el F SRR x
; 6] 1
R T AY
B A 3
¥ 1
1 By "=
o O3
¢ © 1
Oy (D) 4
y
3. “ooy L2F CUIFNL DIToRoIS.”
40. .oz 38,0l cPde Word (x, y) B gu8o STTFE LV
3Q 8 XBFES LY @ LRI (A) oz, oy - evSFRe
dPerzene  rorsowmINGd, (1, 1) ATFZrOIH0E, .
ROTHAT et T JBeesT, (B) #ox) eazsﬁ IZ s
38, Beadodd XR0BTEORY AR TS,
(A) 2logx=y>-1 ©€) s ST UIZ s
(B) 2logy=x*+1 , NHZTOIOR,-
© 2logy=x*-1 D) o, R VI s
D) 2logx=y*+1 SR OIS,
Space For Rough Work
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38. The area of the region bounded by 41. The eccentricity of the ellipse
Y-axis, y = cos x and y = sin x; Ox2 + 25y2 =225 is
T, 4
0<x< Els (A) z
(A) +2-1Sq. units ® 2
(B) /2 Sq. units ;
(©) 2 +1Sq. units €. %
(D) 2- /2 Sq. units i
16
39. The integrating factor of the :
differential equation (2x + 3y?) 42 (2r-1)=x then
dy=ydx(y>0)is E,
1 B 23 33 3
A) eY T RS e e P +—|=
(A) 1 Fprgl 18 5K L 2
(B) = 1
y? (A) >
1 1
c - -
©) > (B) 2
1 © 1
i D) 4
43. The negation' of the statement “All’
40. The equation of the curve passing continuous functions are
through the point (1, 1) such that the differentiable.”
slope of the tangent at any point (x, y) (A) All continuous functions are not
is equal to the product of its co- differentiable.
Ordinates is ' (B) Some continuous functions are
(A) 2logx=y*-1 differentiable.
(B) 2logy=x2+1 © Some: contir':uous functions are
% : not differentiable.
(€) 2logy=x"-1 (D) All differentiable functions are
(D) 2logx=y*+1 continuous. '
Space For Rough Work
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4. 100 THoAE E,8 I W 47, [x] o> RO, POros LUIZIR)
Q@oFn BRF TN 50 DI 4 B,38 Tone f(x) =x — [x] —cos x
SN3T, & TI0INY IriFnd ZesY (=) _

aoon | — |=
(A) 251600 E
(B) 256100 A 0
(C) 266000 ® 1
(D) 261600 ) 4
(D) e&SﬁdQﬁ&QOCA

45. ‘EQUATIONS’ 20w Inw ego‘ri?ozs _
a0R> GYONRY GOk, FNBGNG. & S IRERR
U?.P“"Q, 2,00 "N;d e ?.uOCSJ 48. f(x)= e -1 Q0T
3, oxRoros FoyERecRBedd k-2 37 x=0

. x=039 e@z&ﬁmmﬁk=

8 “ b
(A = 3
9 (A) =
- 2

B -
9 (B) 9
3 5
) - 1
9 ) =
©) >
® 2 2
9 =
3
3x+1 2x-1 x+2 Hx+1

46. |[5x-1 3x+2 x+1 | 49.  f(x)=sin™! L+4,] woon £1(0) =
T7x-2 3x+1 4x-1
ORI BRSCHV 400083 (A) 2log2

' ) (B) log2
(0 © 2log2
B) 2 5
© -10 D) 4log2
D) 6 5
Space For Rough Work
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44. Mean and standard deviation of 100 47. If [x] represents the greatest integer
items are 50 and 4 respectively. The function and f(x) = x — [x] - cos x then
sum of all squares of the items is f'( 1;) o
(A) 251600 2
(B) 256100 (A) 0
(C) 266000 B) 1
(D) 261600 © 2
(D) does not exist
45. Two letters are chosen from the letters '
of the word ‘EQUATIONS’. The sin3x e
proba!)i[ity that one is vowel and the 48. iff(x)={e?* -1 : i
other is consonant is
kvl -t =)
(A) 8 continuous at x =0, then k =
9
3
A =
(B) 4 e
. 9
Q<
9 1
© =
® 2 1
9 = 2
(D) 3
46. The constant term in the expansion of
K x+l1
3x+1 2x-1 x+2 49. Iff(x)=sin“|i2 t},thenf’(())=
Sx—1 3x+2  x+1 |is i
Tx-2° 3x+1 4x-1 (A) 2log2
(A) 0 (B) log2
®) 2 © 2%
-10
© D 4log2
(D) 6 (D) 5
Space For Rough Work
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~ A d2y 52. P o3 Q nwd Idsedrod X3won
50. x=asec ,Y=atan emﬂ?- &a:%ﬂﬂvanq;d, PQ 5 QP 20800
2,000
(A) 2a
(A) B3RS BN ¥
B 1
(B) =Imon w38
© o
(C) o3, =n38
D) 4
(D) oo 308
2§ 9 2
= 7 -10 17
5. |0 1 1| =n3dded IJderd 53, 3A+4B'= e =B
TR ed) 118
=g oo o
. 2B-3A'=(4 0 |soonB=
Rl a1 e
(A) -15 6 -5 "1 3
L3 =252 7. 0 2
. )
R -
B |=1 =6 -% (1 =)
LY =8l o s |
; e g
3 =151 8§ i
L T P R AT b
jin L BRE © e =16
3 : -5 -7
gl e ot
. xS 2 -4
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d2y 52. If P and Q are symmetric matrices of
50. Ifx=asec?,y=atan’0 then e
dx ~ the same order then PQ - QP is
(A) 2a (A) identi .
identity matrix
(B)
© 0 (B) symmetric matrix
(D) _
(C) zero matrix
(D) skew symmetric matrix
51. The inverse of the matrix
30 7 -10 17
RS Y 53. If3A+4B'= [0 p 31] and
-1 0 3 =1 18
2B-3A'=| 4 0 |thenB=
:
3 -1 1 R
(A [-15 6 -5 i
[ 55 g 2 1.3
A |-1 1
F 3 =8 8 T
®) |-1 -6 -2 Fy e
|1 -5 2 ® |[-1 1
¥ . 24
9 ot SN :
(- 1=1""% ¥ ' =L =19
SAACT BT © |4 -16
‘ o D,
e (2 -4
Space For Rough Work

Mathematics 19 A-1




- 58. 3 now  XoLlne neend
Vil A=[4 '2],B=|:? 21],653“ TI%E e ), R0, s %
: =
| ABB' = QERSeH * B a*b = -S-aodo
(A) 50 msmgaﬁoahd 2+x=31uxg, x=
(B) -250 1
(C) 100 (A) %
(D) 250 X
, (B) T
55. wom =eode TErod Aperosd 5
Sk 16 und%, & ADFOER © 3
!305?1'53.2‘ OIS % Ja Lol 1a (el 125
WO, AGRFOEE S0z (D) 8
(A) 96
(B) 48 3 3
59. in~! = +cos7! = |=
(C) 256 cos[Zsm 4«1»cos 4] ‘
(D) 16 o
(A) ey
56. f:R—> RIDg: [0, ©) > R I3 ‘
_ B 3
fx) = 2 DY gr) = Jx oo e
WARIZINT. B FINIIRYE 3
OXRPOTO FOARTOTL, ? < 5
(A) gof(@9)=4 (D) does not exist
(B) fog(-4)=4
A A e 60. a+Z<2tanx+3cot! x<b emn
D) gof (2)=2 - At x+3cotlx
‘a’ B ‘b’ rieb =08, oM
57. A={x|xeN,x<5},B={x|xeZ x? (A) 0 I
-5 +6 =0} soni A 208 B R %
V0K shoewrd suZFRY oad, 030 (B) % 21
(A) 2
&) 2 (©) 0032
(©) 30 (D) T X
D) 32 7 g
Space For Rough Work
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1 3 2 -1
54- IfA= ,B= B
[4 2] [1 2] fhen

| ABB'| =
(A) 50

(B) -250
(C) 100
(D) 250

55. If the wvalue of a third order
determinant is 16, then the value of the
determinant formed by replacing each
of its elements by its cofactor is

(A) 96
(B) 48
(C) 256
(D) 16

5. f:R—> Rand g: [0, ®) > R is
defined by f(x) = x* and g(x) = Vx.
Which one of the following is not
true ?

(A) gof(4)=4
(B) fog(4)=4
©€) fog(2)=2
(D) gof(-2)=2

57. IfA={x|xeN,x<5},B={x|xeZ,

58.

59.

On the set of positive rationals, a
binary operation * is defined by

2
agb:ﬂ_
5
If2*x=31thenx=
1
iy s
(A) -
5
BY s
(B) 5
: 2
s W
(©) 5
125
i Pl A
@) 48

cos [2 sin”~! 2+ cos'l 2] =
4 4

3
(A) %
3
(B) 1
3
©) 3

(D) does not exist

lfa+g<2tan"x+300t*'x<b

then ‘a’ and ‘b’ are respectively.

x? — 5x + 6 = 0}, then the number of (A) Oandm

onto functions from A to B is B Eo,

@A) 2 (0. 7 and 2x
(B) 23 (C) Oand2n

© 30 -n n
®) 32 B T Y
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COMMON ENTRANCE TEST-2019

DATE SUBJECT TIME QUESTION BOOKLET
' VE‘:)SI;‘;" SERIAL NUMBER
29-04-2019 |MATHEMATICS| 02.30 PM TO 03.50 PM A 1
Total Maximum Time for Maximum Total No. of Mention Your
Duration Answering *  Marks Questions " CETNumber
80 Minutes 70 Minutes 60 60
DOs:

L.

Candidate must verify that the CET number and Name printed on the OMR Answer Sheet is tallying with the CET Number
and Name printed on the Admission Ticket. Discrepancy if any, report to invigilator.

2. This question booklet is issued to you by the invigilator after the 2* bell i.e., after 2.30 pm.

3. Candidate must verify that the Version Code of this Question Booklet is tallying with the Version code on the OMR
Answer Sheet. Discrepancy if any, report to invigilator.

4. The Version Code and Serial Number of this question booklet should be entered on the Nominal Roll without any mistakes.

5. Compulsorily sign at the bottom portion of the OMR answer sheet in the space provided.

DONTSs:

1. THE TIMING AND MARKS PRINTED ON THE OMR ANSWER SHEET SHOULD NOT BE DAMAGED /
MUTILATED / SPOILED.

2. The 3™ Bell rings at 2.40 pm, till then;

e Do not remove the seal present on the right hand side of this question booklet.

. ¢ Do not look inside this question booklet or start answering on the OMR answer sheet.

1. This question booklet contains 60 questions and each question will have one statement and four distracters. (Four different
options / responses.)

2. After the 3 Bell is rung at 2.40 pm, remove the paper seal on the right hand side of this question booklet and check that
this booklet does not have any unprinted or torn or missing pages or items etc., if so, get it replaced immedaitely by
complete test booklet by showing it to Room Invigilator. Read each item and start answering on the OMR answer sheet.

3. During the subsequent 70 minutes :

s Read each question (item) carefully.

» Choose one correct answer from out of the four available responses (options / responses) given under each question /
item. In case you feel that there is more than one correct response, mark the response which you consider the best. In
any case, choose only one response for each item.

e Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the question number
on the OMR answer sheet.

BOOIRG 8,3 3 §,30ML WRONG METHODS
CORRECT METHOD
®.©®@©® ®0 o0 ®000
®@® o0 ®e0®

4. Please note that even a minute unintended ink dot on the OMR answer sheet will also be recognized and recorded by the
scanner. Therefore, avoid multiple markings of any kind on the OMR answer sheet.

5. Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR answer sheet for the
same.

6. After the last bell is rung at 3.50 pm, stop marking on the OMR answer sheet and affix your left hand thumb
impression on the OMR answer sheet as per the instructions.

7. Hand over the OMR answer sheet to the room invigilator as it is.

8. Afier separating the top sheet (KEA Copy), the invigilator will return the bottom sheet replica (candidate’s copy) to you
to carry home for self-evaluation.

9. Preserve the replica of the OMR answer sheet for a minimum period of ONE year.

NOTE : In case of any discrepancy between English and Kannada Versions, the English version will be taken as final.
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